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QUESTION 1

For a pattern operation, which of the below choices could be a valid replacement for ? (Choose three.)
$lfTable.InstancelD

A. [3]
B. [X]
C. [and]
D. [

E. []
F.1

Correct Answer: AEF

QUESTION 2

Which of the following properties define the maximum overall size for the returned payload that comes from patterns?
A. cmdb.properties.payload_max_size

B. glide.discovery.payload_max

C. mid.discovery.max_payload_size

D. mid.discovery.max_pattern_payload_size

Correct Answer: D

Reference: https://docs.servicenow.com/bundle/rome-servicenow-platform/page/product/mid-
server/reference/r_MIDServerProperties.html

QUESTION 3

Which of the following pattern operations query targets? (Choose two.)
A. WMI Query

B. Merge Table

C. Get Process

D. Parse Variable

Correct Answer: AC
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QUESTION 4

The CMDB contains which of the following record types? (Choose two.)
A. Model

B. Configuration Item (CI)

C. Asset

D. Relation Type

Correct Answer: BD

Reference: https://docs.servicenow.com/bundle/quebec-servicenow-platform/page/product/configuration-
management/reference/r_CMDBRecordTypes.html

QUESTION 5

Which of the choices have a higher chance of leading to lost data during ClI reclassification? (Choose two.)
A. Switching

B. Identifying

C. Downgrading

D. Upgrading

Correct Answer: AC

Reference: https://docs.servicenow.com/bundle/rome-servicenow-platform/page/product/configuration-
management/task/t_ManuallyReclassifyCl.html
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